GORILLA SPORT

aaaaaaaaaaa (10000798




SHUORILLA oPORTS

Bolt: (M10%57) Bolt: (M10%97)
E L U
8x 8x
Washer: (910) Arc Washer: (¢10) Nut M10
=X
© © @
16x 16x 16x

Spanner

ChiNel




HUORILLA oPORTS

Maximum load 5H00KG




M10%97 2

¢ M10%07 710

 — )

Bolt M10%97 8PCS

©

@

A\

Nut M10 8PCS

Arc Washer @10 16PCS




{—mm ©

Bolt M10%57 8PCS Nut M10 8PCS

©

Washer @10 16PCS




	10000798说明书1
	10000798说明书2
	10000798说明书3
	10000798说明书4
	10000798说明书5

